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S 1) D e S 38 A 2 A T Ok B I O BT Y S B R B A 5 R M B R S A R A L 2
[ 4 68 R0 5K 28 06 PR AR A I B e e s — R T RCE I GE T HE W B AR IR IR U 7%

FIAN T RN MXN B BREL f (e y) Bl h (s y) s KB RERISIE AN

M N
f(xsy) *h(x,y) :]\%N,go n;)f(m yoOh(c —m,y —n) (5.28)
Hr F Geaod) M H Cuso) 535050 f Cosy) R R e y) B R HL I 46
AR 4 A L o 2 g0
f(x.y) *h(x,y)SOF(u,v)H (u,v) (5.29)
Flu,v)* Hu,v)Sf(xsy)h(x,y) (5.30)

BV i) S ) o AR 90 4 Jal TR A S A 3 490 3 Bl ) A BRI 2 () S 7 A S A 3F s AT Rt T RS
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0 24 8 4 20 90 A R KA 4 ) A (ALK SR A S [R] deloxt (RS AT IR B B
— e G SR A ) 8 e N CRIVIE 0 7 11 DR/ AR [R] 38 AR 9 AR e R AT R
WAt ST R 2 RO S A T N BN I B

5.3 ETHRE/EGEREFR—NRBREIRE

P45 H B W8 75 R 30 5 X0 17 T e L O B ) e AT 4 2 R R R A ol o T
U e B bR H (o) AT LAARE X (5. 26) AR (5. 27) 52 B0 AR 98 U, 35 1) 0 B i =
0 H 8

T3 590 4 PR A R T 908 D0 A L U AR R AU MR 0 I8 A A e S0 R I = el O
R AT SRARE 78 R i e S

5.3.1 HEHENKEIEESE

— > HAEL PR R D8 i 11 5 A2 pR B SO

1, D(u,v) <D,

Hu,v) = (5.31)
Ov D(uv'U)>D

Hp, Dy R—AAE R E D G o) R 803 T S B 05 (o) PUEE B

P O 25 1 B 3 9 SRR B (M2, N /2) o D s o) BI85 3851 1 B S (M /2,
N/2) IR

D(usv) =[(u—M/2)* 4+ (v — N/2)* ]V (5.32)

FRAS BB IR D88 1 & XU L R4 D, WY IR PN AY BT A A0 R B0 AT 5 I 3 3 1 0% B D%
s T 7E L B 22 A1 08 BT A 9003 50 4 0 3 Jal 4w, T LA D BROM R A 38, o gl 2 1, X T (IR
PR U, 2 HEA I A 2 T I B R G bk 22 W SRy O BE IR A 0 S B A R A 3R SR L
FEHEATARE U8 U B S B e (B2 2 R SE I A5 3D — > Rk A R Do,lxD —n/S HeT
n/3 ROMRI L 0, 11 He 3R BH 1k 5 KR T n/3 BOMIRIRLL 1,3 @it A msiR
{H /3 BLFR R #R AR A

5. 10Ca) g5 T BHEAS IR 38 8 I 2% G RS pREIC H 0% it A v ] o L B e T 3R B R
JP AR ) B L R R T 6 RS EFE 360° BV R A5 2 5 4K 174 B AR (I A Y08 U A AL B pR B
R 5. 10(b) fir s (56 RS R g H B LI . B LI 5 SO0 . RO AR Se A 32 (B A A Y
A A8 23 3 BT A 5 A R 38 3 1 57 T 8 AT A o Ay A1 238 i K B B o

H(u,v)
H(u,v)

i « IHHl
WW
HI! i

D(u,v)
0 p,
(a) BETL R BK (b) E M

PE 5. 10 AR ARG 9 Bl 4 1) B B R BBOR AR TAT 41 028 1L 14
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FEREL 5. 10Ca) XA LA T WA ki D, B8R T R a5 (M/2,N /2)

o U0 Y 02, AR (RO 8 A 0 B i SO T TR AR A T S AL AT R A
AT ABAE S By b AT oo 4 S0 B L T A AR I DR I A8 R AR AT RE Y, BT LA A
iR by = BEAE AV 308 U8 8 A4

CB0 5. 1] 005 Jall AL AL S 08 e 0% ) 20 D A8 SR AR 1 40

. A — B R kR i B 242 EB S R JE N BE & (EMR T R 5 R ER R
AE B CRVID 2O 19 A 43 Lo AR 98 MR AE 5 B8 B AE MR B 1 i o3 A A

M—1 N—1
]B{E]ZPWW#E}ZPWW%XNWG (5.33)

uER vER u=0 v=0
5. 11 G — R AL & 1 A T4 1 A AR G 181 5. 11 () 2 e i e B et ok 151, 0
HAHUEZ A2 D 4390 10,2040 F1 80 B 2 1) FHLAEAIR 388 118 D 7 0F T PRI A50 47 A1 30 i 08
FrAG T EE 3 Bi 5. 11 (o)~ 5. 11(D . A4 = (5. 33) 35 AT 0, 181 5. 11 (o) ~ & 5. 11(D
Ay T R EAR R 95.5%.97.9%.99. 0% F1 99. 6 % Y BE .

(a) [FUREIB

(d) D=20f I IEVE Bz [E1R (e) D=40f{RIEUE R (<115 (f) D=80RMIRIEUE Bz IR
P 5. 11 A 4 dl RO 18 90 4 ) O D8 SR T AR AR e 3 AT

& 5. 11Cc)~ & 5. 11D A4 E Ui .

ol B PR A AR o ik R AR PR PG

o FEER T AR AR RN AR 0 1B 9 B R T R S ER BT R R RO R

o ULH T A A R T 3R I MR B AR R T T Ay

& 5. 11 (o)X ug B4t i S RE 5 19 4. 500 1 = 4043 o, RGO AR 45 o0 B0  IF A B 1)
PRABON; 5. 11 (DAL BB R MAE R AY 2. 1% By w540 ik, UG AT AR A 6 — o T B Y
BIRIR S RN M 5. 11 (e (X UE bR B o5 L BE B 9 1. 0 %6 11 g 431 43 it I, T 4 00 i SR A 728
Az M4 5. 1L AIERR B S R EE R Y 0. 4 %0 W ARy S, BR A AR AS  RE
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BILT —#.
5.3.2 BEHFRHEEIERKS

— A 0 WY TR IR 3 (Butterworth) {3 U8 B 2% B0 56 7% bR BUE Xl
H(u,v) = L (5.34)
1+[DCu.v)/D,]"

Hr, Dy FEAEMA D (u o) 25003857 5 S e, o) IR S, X (5. 32) FR .

B 5. 12Ca) 25 T BB 30k 1.2 F103 i B R IR 30 1038 0 D 78 PO 6 RS pR B A s A
B, ERRRETRE eI AR M R R A H BB LR AN 5. 12(b) fim . i iE IR Y & RS .
U IR 57 32 R MR TR A4 PN 19 000 236 3 L 1) 15 5 A Rl ok 1 67 2 08 T Ak 1 1) A1 4 it 43 #1F
PR T O S R N R S0 R TR (1 TTRAR & 1 =R (3 1R 4 1 N PO I = S 1

H(u.v) H(u,v)

(a) ¥R R L (b) B
5. 12 DR R 307 0% 30 8 It 8 140 6 s o 0 AR T R o L R

—MBAE LT BCY H OB S5 K AE B AN T 40 b s St Ry A R S kR . e 2R (5. 34)
F,9 D(usv)=D, B, H(u,v)=0. 5 \E R 1 FEF] 50%), — A% ML 2R H
Rof 380 e R AEL I 1 /42 s B 0036 O 8 L AR

Pl 5. 13 J2 ) A L AR R S0 A0 30 0 g i A7 R MR i S B0 25 R, &1 5. 13(h) BIMAT
I P 4% B Ol 0. 02 A HER I 5 [R5, 18] 5. 13 (o) ~ &1 5. 13 (h) R BUR [A] (1 8% 1451 (10 il 30)
AN [R) 0 8 10 4 B B0 (1.2 0 30 1 MRS G . 43 B vl 240, D8 0 248 80 e T (B R, 2
4 SR PR AASR (5 MU 22 ) 5 UL AR D (R K L J M 4t S P14 k335 WA (2 Mg sk O
A

5.3.3 SHRE@EESR

P T 5 1T R 0 e EEL I A 4 R s AR e 3 A v BT R R, I R R R S Bl - 48 2 [R]85 A
B Z BB R BT DU T m W R B B o R A R R R X
— A TR B v T 8 U i A pR B R
H(u,v) =e D @/’ (5.35)
Hdr, D Cuyo) J2 AT R S B S (w0 BB, X (5. 32 TR . o RR m it &9~
R 2 o =D, I, o] 75 31 755 307 A8 U8 I 2% 10— Fl 5 Ry A o 1) 22 7 T 2K

7D2(u.1r>/2D2
H(u,v) =e 0

Hr, Dy B#IEME: X D(u,v)=D, B, H TR ERRKER 0.607 4,

(5.36)



g mEmmaes P

() D=10, n=24{% (f) Dy=30, n=281% (2) De=10, n=3&{% (h) Dy=30, n=3[&1{%
Pl 5. 13 ) L A K S0 0K o 0 e e AT BT AR 25 M SL IR 45

B 5. 14 1T D, =10.D, =20 Fl D, =40 Fi¥ 25 0 8 U8 % 2% i 6 B pR 80 H 1Y %
R, R e D AR A RS R A H R AR 5. 14(b) R . B LI B U
S TS 37 32 R TR AR PN 1) 00 23 9 L) 1 5 A BB B o, T 6 T 0 TR AR A 19 4 S8 B o R

H(u,v)

D(u,v)
(a) B K (b) EAE
5. 14 Ur 0K o 8 T s 1) 7 s v S0RES 4 T 11 A WAL 1B

L5 PR R 0T (U 0 A AT LU e ST AR DR B AR B A IRFE BLAR . D3 Ah TR BT AR PR
RN e A0 22 1] AR L AT 3 0 3 9 0 0T e 4 v S0 MR B A T A I 2

TR S5 ATt B PR L AR TR I A A I R A R A i 2 L DB
ERISNESHE S eio e B Sk S o o8 SO DIVAR ey TR R 31 #i T A € S O I O SR O
F14 P A5l SR Y B R

5.4 E-TImZERERIGE—INZRE 58 iEK

PRI T ) 300 2% IR FEE 49 I UG 728 A o 7 (R BEL I 451 33 e A0 4 30k 488 el v A ok L (41
W U R SR B H (u o), BEAT LLAR IR R (5. 26) F1X (5. 27) 5290 /& 30 g o, o8 W1 EAR 1 &
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R 25 153 o S5 R IR s ) AR
5. 4. 1 EEI*LE\H,J IIL.\IE?J%

— A AR {4 1 6 Ja v 20 0 U e 1 G S R B Xk
0 D(u,v) <D

H(u,v) = (5.37)
1 D(u,v) > D,

Hrp, Dy REIESR D Cu o) A8 3P TS 2 08 G o) IR B, 0 X (5. 32) iR . X
T o 3 U0 R U, 2 BE AN AT 2 I I G G Bk 2 S O R T 3R AR O A LR AR

AR 7 A B U B A N SRR LL D, AR 1 B R PN B BT A R R i e A A £ i
7 R 256 AN T Ul 3 e

B 5. 15 &5 T BRAE Rl SR B 2R O e B R H RO RS AR L I 5. 15 (O A T 88
PR H BB, 12 LI G 2 SO . A IS S 7 T 32 [ R k40 B4 401 3 9 L RO £ 55 A i
3 T 87 (B A AR PR 1 A8 56 1 0 1 4 D o

H(u,v)
1.0
D(u,v)
0 D,
(a) fEEL T (b) B

P 5. 15 FHUAC GRS G U I 4% 1A e B R SR AR T 1] A3 AL 1]

55 PR ACUAPRE 8 Iy — B AR S PR P AT L On R S B L L A B AR e 0 O A 2 AN B
SEHY BT LA R S < BHLAR v e R e

5.4.2 BYXETEEIERS

—A n [ Y AR R T v T O A A B R R e R
H(u,v) = ! (5.38)
1+[Dy/Du, 0]

Hrr, Dy NEAEMEE D (u o) 52 450257 T B A G, o) BB RS, 2 (5. 32) i,

5. 16 Ca) 25t T B8 1 0% B RE IR Hr v 38 8 0 A% 1 e B R B H RO R I 1A LR
TR 3 v 2 U B B R SRR H BB AL 5. 16 (b) i i B IR Y & X2 . RATJfue
I FAZ A5 S MR A M R 5538 R A 5 A R A, T T 8 57 B I AR P AR K 43 AR
VW UE PR . 5 E R UK S0 I O D — R B R R M0 o 3 O U A AR S KR ) A o b A
W

55 RE IR I R D A — R, — I O N S H O ds R AE R B A 40 EB X R 4 A5
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H(u,v)
1.0 H(u,v)
W
0 D(u,v) us Ny
(a) LI (b) B

Bl 5,16 L4 VR 3 v 2 08 D 8% 1 5 RS o BORS 4 T 11 g AL IR
5.4.3 SHEEIEKEE
AL AR B T g D R ST 1 S D B I R RS BRBCE X

—D’(usv)/2D})

H(u,v)=1—e (5.39)
Hrp D Gu o) J2 M3 TR RSB A G o) BB B, A0 (5. 32) T
P 5. 17 Ca) 2 7 SR 110 sy 30 o 3 0 b 10 B B R B R BR80T L 18T 5. 17 (b G i
Tz iR A B R H MBI, B L & SO B IR T 8] 57 1B
FE AR HD B 90 3R R 4 5 5 A BR A 3 o T2 T 8] 578 R A A A AR R O3 R e R R
H(u,v)
1.0

0 D(u,v)
(a) Hf gk vl & (b) BME
B 5. 17 v 30 v A 2 I8 1) S o SR A T 1 R o A I

P 5. 18 45t T e 30 v 3 20 904 e R AT 12T 0 G 5 I IBCAS () B Lk TR I P S IR A 2R . )
Brrl . B ORI D (B R DR, 1 50 AR R B ], R T AR AR Sk K 22 Y
HR AT LA A e g s OR A2 Ak . (AR B D, iR R R b 8 2 R
R JE ) 87 A Y DX Jsf et BT AR 4 R % B AR BT IR 8O0 R TR A A A 7 2 B AR 3 5 L B
Pyt e AR R IR ED .

(QE (b) Dy=2015 R IEHE (¢) Dy=401 55 RIEHR
PR 5. 18 ] vog 0 v o U J8 b AR AT I 1 G TR 1Y) S R 45
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5.5 wIRIEKEMEIEER

it P& % 4% (bandpass filter) 547 18 JEIF #% (bandstop filter) A T X i 26 X 3k, 1) HE — 4
S0 B P 1 1 3 3 0 ) R 3 g e 1/ G

5.5.1 HMEIEK:S

TEHELE N b, PRS00 S5 i ] RE 32 B B AT — E LAY 25 A PE R P 2 ) . b, MR
B AT 1E 52 T 90 BT 80 X R M A ) — S M AU A0 . 24 OE 5% TR R LAY I 2 A R
BB ATE- T b S B B S Y X FR g T e R o A g ) S B X AR BT O . X R
T R LA 5 R 0T R v B 5 DX I A BT T BRIk LUJBL R X R P Y — E AR
0 BN 145 5 3 e R) R gt T LR el L U B e 5

— T BR LASE 93BG L BL D AR 0 18 A0 B g I s, o) DU A8 DA
FUOR TR Y R T A T B B S B, BOZO BB B AR B 0 O R () s R R
Do, W A% 36 R B SR

0 D(u,v) <D,

H(u,v) = (5.40)
1 D(u,v) > D,

Eis

D(usv)=./(u—u,)* + (v —v,)" (5.41)
F TR B 7 g 1 S T A B SR L 308 U A 0 20 X HE B T DA — A T BR A
Cuysvg) FHL LA D Ry 2 48 10 Xt AR DX 5 P 14 ST A 400 256 11 AR 217 BEL 08 10 24 14 5 S o B0
SLH
0 D(u,v) <D, B D,(u,v)<<D

Hu,v) = (5.42)
1 HAb
Horp
D, Gusv) =/ (u—uy)’ + (v —0,)° (5.43)
D, (uvo) =/ (u+u)* + (v +0v)° (5.44)

R P g S L D D 1) S B 8 T LA 1T A 8 9 LR i 3 8 D5k A 0 i PEL D8
Wt o BT, —Bh e B A28 1] X3 FR A L8 IR 2l BEL 8 0 45 1) A% 128 o 0] 5 SR

1
H(u,v) = .
(usv) D (w0 W }2” (5.45)

1+Lﬂ(u,v>—1ﬁ
Horp oW ONBHHFAE 8. D, ML L 24
5,19 450 T — A BT () BEL G D 25 (1 e B8 pR A H R B AL IR, %8 AL BT 1 5 SOz
S TR A 7 79 A 158 A A A1 1 451 38 518 P A9 4 5 A B85 o 107 57 9 4 520 A 4 P ) 00 238 L 3
HB BB EBR
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5. 1o A BLUE Il B 5 B 66 K 35 P
5.5.2 THIBIRIKRE

AT 30 08 90 Y FEL DB D AR A S B AR VR DAL R R O A — R R LN 45 5 T
ok A A A T 4 e i i 2 A PR A O I e 1 B RS pR BT E K

1 Dy(u,v) <D, D,(u,v) <D,
H(u.,v) = (5.46)
0 HAth

Ay 308 908 T8 i A P LA o )R Rl BEL U O A AT B AR A . A H (wa o) AR
T i 4 2 32 B 50 )Xo 7 ) T 0 IR A T A% 3B PRUBL H (w0 AT SE SO
H(u,v)=1—H" (u,v) (5.47)
&1 5. 20 J& — 4~ B AL (137 0 U8 A 9 B RS B A H 1YL, B L A O R
TR A5 4 520 A 4K PR %) 1 3 0 R 80 15 5 2l o A7 7 A JBR0 A 4R A1 178 1 46 i S K

5] &5
5.1 BBETIIRIE,
(1) i 2 3k (] 5 38 (2) ik ug ik
(3) 11 B8 I (4) F RS &
5.2 BAEUEXZRR expla) =" Fll e =cosx +isinz iG55 H FII AR EIFR.,
12n(xu+yv)

QD) exp(*Jin x}u\f Y )

i2n(xu+yov)
(2) exp(liﬂ 1;] Yo )
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5.3 W& NXN WEMR £, y) MBI AR F (uso) 1655 R B BRI E T
A 5 08 Bk AR e ) B (DO 43 22 1) 6 R A 3R

5.4 IR [n)

(1) MR f Cao s y) ST L I 78 460 5 75 30 0 030 33 P AERUE A7 —F L Hpolo A 348 2 U o Ak 2

(2) MIEEMG £y y) PEA T EL A8 6 I A5 300 A9 0535 1 114 A8 A JRE A 8% 380 X R v B A1
AR, L Hp O Ak A 2 1 A Ak 7

(3) B0 2R A 1 D S B0 AY PR AL BE T g =42

(4) 51 23 Sl v 30 90 O S 0 1) PRI Ah B0 T i R 4 2

5.5 GiE — A FH = 307 e 38 DR I 4 AT R R MATLAB 2% .

5.6  FHZMH MATLAB [ F 7 pR 504 5 1) S 308 5L i 1 A% 46 71 fz 48 48 1) MATLAB
P IEE MATLAB 358 F 30T 5 IE L FE )7 .

clc; clear all; close all;

gray_img = imread('d:\girl. jpg') % K B R 5

FT img= fft2(gray_img); % YR AE H 0 AR

FTS_img = fftshift(FT_inmg); % SCIAT I LA e X BR

FTS log img= log(l + abs(FTS img)); % I R G Bz B

Inverse I= ifftshift(FTS img); % J RS A HR O

Inverse img= real(ifft2(Inverse I)); S B v S AR e, BOAS 2t SR Y SR
Inverse FT img = uint8(Inverse_ img); % K4 B 8 v 1%

subplot(1,3,1); imshow(gray img); title('J5l KR K% ");
subplot(1,3,2); imshow(FTS_log img, []); title( .ot BRI M HRIE A ") ;
subplot(1,3,3); imshow(Inverse FT img); title('JZZFfassBIK4L");



